MIAMIDADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786) 3152590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

The Airolite Company

P.O. Box 410

Schofield, WI 54476

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model SCH601MD Aluminum Louver with and without VCD-40 Damper

APPROVAL DOCUMENT: Drawing No. SCH601MD, titled “SCH601MD Louver”, sheets 1 through 21
of 21, dated 08/25/2010, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E., bearing the
Miami-Dade County Product Control renewal stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Schofield, W1 or
Frankfort, KY, model/series, and following statement: "Miami-Dade County Product Control Approved",
unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 10-0921.08 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 12-0830.06

Expiration Date: November 1, 2017

M COUNTY

20 12 Approval Date: November 15, 2012
i1 Jo®

Page 1



The Airolite Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS “Submitted under NOA # 10-0921.08”
1. Drawing No. SCH601MD, titled “SCH601MD Louver”, sheets 1 through 21 of 21, dated
08/25/2010, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E.

TESTS “Submitted under NOA # 08-0229.05”

1. Test report on Wind Driven Rain Resistance per FBC, TAS 110(A)-95, prepared by
Architectural Testing, Inc., Test Report No. 79201.01-109-18, dated 02/05/2008, signed and
sealed by Michael D. Stremmel, P.E.

“Submitted under NOA # 07-0925.02”
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series/Model SCH601MD, fixed
aluminum louvers, prepared by Architectural Testing, Inc., Test Report No. 74301.01-602-18,
dated 09/04/2007, signed and sealed by Joseph A. Reed, P.E.
3. Test report on Standard Test Methods for Tensile Testing of Metallic Materials, per ASTM
E8-03, prepared by Architectural Festing, Inc.; Test Report No.74301.02- 602-18 dated
09/12/2007, signed and sealed by Joseph A. Reed P.E.

CALCULATIONS “Submitted under NOA # 10-0921.08”
1. Structural calculations, prepared by Rice Engmeerlng, dated 09/03/2010, signed and sealed by
L. David Rice, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS

1. None.
STATEMENTS
1. Statement letter of code conformance to 2010 FBC issued by Rice Engineering, dated

11/06/2012, signed and sealed by L. David Rice, P.E.

“Submitted under NOA # 10-0921.09”

2. Statement letters of conformance and no financial interest issued by Rice Engineering, dated
09/03/2010, signed and sealed by L. David Rice, P.E.

3. Private labeling agreement dated 10/12/2007.

1fo8 2012

Carlos M. Utrera, P.E.
Product - Control Examiner

NOA No. 12-0830.06

Expiration Date: November 1, 2017
Approval Date: November 15, 2012



NOILVAT TS o g |k
AW LO9HOS 2 N
| INNOW 3IAIITS Bsrae B¢
DN ONIAWNT Q92 SV 3NV H £538 e g5 |
> 85383 S5 §
b¢ 401 MIANOT AWLO9HOS Sgogss 25 °
'ON_133HS ___ IILIL K s58s € 2542
144%" 9LVPS NISNOOS T TILONOS &) S e g5 % W ELzo
7557 ERLAR ~SYIOM DY) %00[ ay] 2388% £82%
010 SN , “ g2
¢ mNu,:m_ AS NAVNT M_LPE_I:@MM__H_@ < M 8858
@z
; ;
: B X
3 a N8 3
m | _ “ ms
T EE S s s s, ! e
5 i
S
2
g BE
S5EgERERARAN AAEERENE INERERENEE | | ERERIRARNAR .=
. o o v o o O o off o HERHAHAREFRFFHHHAHRBBEBRHRFRFRFHAA ww
g
JE
&5 BE w 2
oo | LU D mm g
2 = B R R A AT A B A R A AT A
2pe mm ¥ m
" I =
1 |
ﬂmw ‘.
-||Lr|. 1 ”_n ool e o o o o e o o e o o e v e o v ol o ol i e e o W ol o o s B =
N--n_J i
L 1
e ER
m M 9G1°0 LHOI3H ¥3ANO0T TVNLOV “XVA 000 ¥¥l 9G1°0 %M
w ‘@Al 0§20 IH9I3H JATIIS 40 IAISINO XVN CIT¥bl e s
.u 1HOEFH ONIN3JO ¥3AN0T
§ SR |




NOILVAZ 13 S 2
AN LO9HOS m|7 3
LR INNOW FT1ONV SNONNILINOD Mmmmm 5 mm

8246683 88 g

¢ 40 ¢ 253226 50 §

S3ANO0T ANLO9HOS S3o88e “3 %

‘ON _133HS _ JILIL E N m.mm m m.m wm

ve-l 8745 NISNOOSIN "TLIOHOS @) Nogsy W Egas

ERTAN wSYJOM DU} 00| 8y] 23283 ©830

owe/se/e s | SO S | &

8
/2
SEP 0 3 2010

o=
A

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA@

R
®» T S

LA-__J

v

0.125 TYP,
T0 0.375

1
1
I
1
|
11
L]
1
¥
]
!
)
1
1
|
]
72.000 MAX. ACTUAL
LOUVER WIDTH

A
CROSS SECTION
|
H
I
L)
I
tt
11
{1
LL
1)
Ll
tH
i
i
I
8|
LIL)
I
L]
1
1
L
1
LL
H
H
i
n
|
I
L)
I
T
]
11
(A
It
it
i
i
i1
1
H
|
Tt
i
i
t
72.000 MAX. ACTUAL

LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH

L[}

¢
I
L]
I
)
i
1
|
!
I
!
1
]
]
i
T
i
1
i
L
|
72.000 MAX. ACTUAL
LOUVER WIDTH

1HOI3H HIANOT VLIV XYW 000F¥ | ]
b

. GLL°0 OL
o Wealo 1

m 1HOI3H ONIN3dO ¥3ANO0T




FRODUET RENEWED
as complying with the Florids
Building Code

.

(21 (22) R
r — e )

I

| —T" 3

t

|
e

n =
£8
QC
2o 8
s o
5 &
w o
G
=
6
o s
L. -
2 S
& 8
& B
g ;g
3 3
mn 8
m ¥
¥ X
s
— —
- (]
o 0
E"o? P —=}—0.156 0.156 ——
Qe | 36.000 MAX. ACTUAL ___| _ 36.000 MAX. ACTUAL __|_  36.000 MAX. ACTUAL __| _ _ 36.000 MAX. ACTUAL ___|  36.000 MAX. ACTUAL 36.000 MAX. ACTUAL
o LOUVER WIDTH = " LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
Ot OUTSIDE OF SLEEVE WIDTH

UNLIMITED LOUVER OPENING WIDTH

DATE

8/25/2010

DRAWN BY

MES
1:24

SHEET NO.

SCALE

S OF 21

CAD DRAWING NO,

SCHB01TMD

The look that works™
SCHOFIELD, WISCONSIN 54476

715—-359-6171

INTROIHINE

TITLE

FLANGE FRAME
ELEVATION

SCHB01MD LOUVER W/VCD—40
SLEEVE MOUNT

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217

Phone:
Fax:

920.845.1042
920.845.1048

www.rice-inc.com

Florida Firm No: F-31000005061
Certificate of Authorization: #9090

L. David Rice

Registration No: 50923 ./ -




O
<
HORIZONTAL N
CROSS”SeCrion (75 3 | &
r e =
——R————— 8 — R ———— 3 5 | a5 L
. g v
o I I 1l A ©E 3
=) z O
0l < =
/72 g 9E Y g T
Ll
| - EEE RV
] A il
| N @)
e I ¥ =
2 ] 2.2 | =
rd = N =3 0
e | o= O O
5 =5 >
I3 L1ea| = L
’! ,___F 23 . =
i -
I 94 X O O
I =8 W = =
e Qi >
| 23w = < <
- =N =2 >
5 v g n H
I Nt 0 2 o
5§ A | e LY Q5
= 3 X | = Z
e N p
z 3 NE Q=
S & N %)
< lije I O
o ) 1 W O
2 3 I 29
3 I =
: | H
- il
NI RICE
|
it ENGINEERING
! 105 School Creek Trail
3 Luxemburg, WI 54217
" I Phone: 920.845.1042
I Fax:  920.845.1048
i www rice-inc.com
. ||
£ A ‘; Florida Firm No: F-01000005061
8o ; ? “ & Certificate of Authorization: #9090
=L | L. David Rice
° : . : m : Registration No: 50923 s
i ACE
! o ) 7,
0.125 TYP,
To 0.375 | VERTICA
| . 36.000 MAX. ACTUAL ___| | 36.000 MAX. ACTUAL ___| | 36.000 MAX. ACTUAL __| CROSS SECTION
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH 2
0125 WP, __|_ | 36.000 MAX. ACTUAL __| | . 36.000 MAX. ACTUAL __| | 36.000 MAX. ACTUAL ___| =
TO 0.375 LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH =
UNLIMITED LOUVER OPENING WIDTH 3
LORIONA NS
SEF u 3 2010 DIONAL SN
gy




HEAD DETAIL
m LOUVER HEIGHT < 144 IN.

1251/ 178

/ .125|7 1710

/]

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

8" 0.C.
SPACING

8,/CONNECTION

2

B g
s &
R e
£ g
14 :lw;}D
ddgg 5
b g
.125
> A
2

i
1
5

1

1

TYPICAL @ BLADES ”
125
2571

4) 1/HEAD,BLADE, SILL

6" 0.C. §
SPACING

ALTERNATE REAR WELD LOCATION

RO

==

LILIE

1B

HEAD DETAIL

LOUVER HEIGHT £ 144 IN

o

=PV

8/25/2010

DATE

5 OF 21

MES
1:2
CAD DRAWING NO.

SHEET NO,

SCH601MD

DRAWN BY
SCALE

The look that worksm™
SCHOFIELD, WISCONSIN 54476
715-359—6171

FLANGE FRAME
SLEEVE MOUNT

s 43
4 Yy gz
i 7y |
o
« 8 §‘o" ALTERNATE REAR WELD LOCATION |
¢ g S 125/ 0.75" |
= @ »
n 3 é £ 9 18" 0.C. |
A SPACING |
</
i
e
o"“ :
@ /‘ : I
|
I
I
: I
!
/e ! |
| SPACING | |
@)\ d el ||
. LY L —
‘1' 1282172 1257 17—10 ML 3
{ A = Wz
A ¥ — — —— et
I
? ? .L 8 \ @9[ A
B3= s 6" 0.C.
e ® D/ '
= E SILL DETAIL ¥ BUILDING STRUCTURE/DEPTH MAY VARY.
0 & BUILDING STRUCTURES INCLUDE BUT NOT
5o (2 LOUVER HEIGHT < 144 N /| LUMTED TO WOOD FRAME, STEEL STUDS,
W STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

(©)

(2

s

(Tt 2

Nis Dind
e f

g

wace No [0~ 092,
Dy J717012212,

8 WELD PERIMETER
@ CAP

LOUVER HEIGHT < 144 iIN.

46

SEP 0 3 2010

ANTROIUNTS

=

SCH601MD LOUVER
HEAD & SILL DETAILS, H<144”

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042

Fax: 920.845.1048

www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090,

L. David Rice
Registration No: 50923 //




HEAD DETAL BUILDING STRUCTURE/DEPTH MAY VARY.
0 m LOUVER HEIGHT < 96 IN. |~ BUILDING STRUCTURES INCLUDE BUT NOT
5 e | UMITED TO WOOD FRAME, STEEL STUDS,
° g W STRUCTURAL STEEL AND CONCRETE/MASONRY
e (BY OTHERS).
4 i 0O
§ 88 g i 95718 6,/ CONNECTION
| & S 3 4 A2/ 1T=10" <

- . on _gpf

F - S ? \°‘ % § m—
! = ; —
5 AT E £
S 5 o I
PR NEWED AN | 6" 0. | ‘ |
o with (0 0 D "N SPACING l
0 o:‘ I /ALT?;P;AIE gE;g_ WELD LOCMLIONI
125 \ . .
7 | (9) |
By 2 Sy |
Miami Dide Product Costrol XJ X <"""{D |
Il QO |
‘,ﬂ" TYPICAL © BLADES Qh\, I @ |
GON — 125071 ‘?\1\_‘ |
\
25] |
|
3 |
© E 85
% Y Il ALTERNATE BLADE REAR WELD
& v B7 125/ 0.75"
o S 3% |
& 8 Sy | @
g £ 3g ; Ly
° 5 18" 0.C. 4
SPACING |
!
|
7 |
|
I
-
I
| & coeerroporerceeceds SFARING | I
@)\A g S HIH [ _
| %—3‘7‘7".12 277 _—my=io __ l
L T e — —

— —— (T e T T T
119 8 1 /
E85 o
%S | @ 6,/CONNECTION
o R : )/ d
>4
E E BUILDING STRUCTURE/DEPTH MAY VARY.

Q9 |~ BUILDING STRUCTURES INCLUDE BUT NOT

5 ° SILL DETAIL #~| LUMITED TO WOOD FRAME, STEEL STUDS,
m LOUVER HEIGHT < 96 IN. STRUCTURAL STEEL AND CONCRETE/MASONRY
\e/y (BY OTHERS).

HEAD DETAIL o
3B LOUVER HEIGHT < 96 IN. «—
e 5
@ N
- 9| =
\ _ MQ N ()
EOO T E
O 2 @)
ol s o E©
>l Yg © [z T
zEL._.‘—E[ X @)
B E RO
[=] {72 ) (&)
o ©
(] &5 v
Sz |
~ & WELD Bﬂjg L .
~INTERIOR Eggg = 3 z 4
© CAP %39 S o<
—=£8 L = W
é @g%}, o a
=on S W
@% - O > _
o Z W
© LY H
5 L O
- 9 3
0O
/ Lo 5
- T
~ :
ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042

Fax: 920.845.1048

www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

§ WELD INTERIOR
@ CAP

SILL DETAIL
LOUVER HEIGHT £ 96 IN.

(1)

5

\\\\“\:!“;_";flu;, Y 4

W B
S0 l e

¢ W = b/
NG E NG
Y
§

ST J/STATE OF ¢
Pk, OR\Q??-“"‘@“}
ORI B

\)

Y
N

g 6), Srasanae? 'é* R
% 0O A N\
,w;mj:‘:ﬁ};\n\\‘\




92
;

<144 N

SUBSTRATE LIMITED TO WOQD,
STEEL, CONCRETE AND

MASONRY (CMU) (BY OTHERS).

FASTENER EDGE
DISTANCE

LOUVER OPENNG

0.125 TYP, T0 0.373—41 e

ACTUAL LOUVER HEXGHT

8

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

SUBSTRATE LIMITED TO WQOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

FASTEMER EDGE |
DISTANCE

““““““““““““““““

o (0,125 TYP, TO 0.375

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

ALTERNATE REAR WELD LOCATION

\@ O

1/BLADE,HEAD,SILL

ALTERNATE REAR WELD LOCATION

- 25,/07%

18" 0.C.
SPACING @{O

/®

of

===

of

0.125 TYP, TO 0.375—-] f—
-1

EXCESS

MATERIAL BEYOND FASTENER

EDGE DISTANCE IS ALLOWED TO BE

| ﬁ REMOVED (THIS LEG ONLY).

] MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP.
IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

DETAIL

—anf 0,123 TYP, TO 0.378

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

mWMﬂnsuu

G

PRODUCT RENEWED

a8 complying with the Floridw
m’ M

Acosptance No .0b

a’u‘tmmm

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SiLL
CONDITIONS WHEN APPLICABLE.

h— T
"]‘I‘I’f—m— % e
I

18" 0.C. £
SPACING

o

| 1 /BLADE.HEAD,St-L

P

Ve

EXCESS MATERIAL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE
REMOVED (THIS LEG ONLY).

MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP. DETAIL
IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

SEP 0 3 2010

)
)
~
> —
w8 N O
'_.
50 L, 2
D‘_
O E o
N . z O
=u| 2 2 T
A\l [2'4
Sk B O
<T
E 18 & S
2¢:Lo
2.2 E*O‘)
m< —
[”-_”—f‘éﬁ D\ﬂ%
El il
—E -
281 3 %
_z-‘fo—-j_—_l;f
gdg < 2 < &
=8 Z — L
_g%.AC)<ELI-IQ
»-8.:2(00
S 2 -
© O = On
520
m;%"g
o
OD‘ES
L O <
i W T
= T
}-—

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042

Fax: 920.845.1048

www rice-inc.com

Florida Firm No: F-01000005061
Ceriificate of Authorization: #9090
L. David Rice
Registration No: 50923

NI
\\\\‘“‘ _;
\\\‘\\op‘\nﬁ Yo 4

sttt I, /P4

* NGEN Y
& \’\b // e

pd

/,,

¥




12" 0.C.
SPACING

STRUCTURAL STEEL AND CONCRETE/MASONRY

(BY OTHERS).

2

s

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
LIMITED TO WOOD FRAME, STEEL STUDS,

\O

257 T8 p

6" 0.C.
SPACING

AW

S

A

6” 0.C.
SPACING

.125,/°2.5

/®

2000

-—G

@

0.156 —

0.125 TYP, TO 0.375 —=

o

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION ‘WIDTH, ——
INSIDE OF SLEEVE

{t~————— QUTSIDE OF SLEEVE
e————————— LOUVER OPENING

m JAMB DETAIL
=/

/@

]

&2 U

N e

1/ BLADE,HEAD,SILL

/@

o

PRODUCTRENEWBD

SUPPORT DETAIL
m LOUVER HEIGHT < 144 IN.

o
o
g
—
10
“’Q N g
—
S 0 L | —
O
ol s o D
»w| g 00 12 T
=k B
: 5 g )
E B v S
2R
1] &5
°8 S W e
dngDE%g
B2 EQF
—=im L
224 O a
DI—%KESL;
— o
OZLLIE
T
T a5
< QL:.(f)
)
L
|
=
F—

RICE

abbiesEe,,

SEP 0 3 20“)/

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042

Fax: 920.845.1048

www rice-inc.com

Fiorida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923,/ »~

ONAL @

""umm\t“




(@]
o
N
E —
N N -
=\
S 00 L =
D‘ A
O EFE o
SUBSTRATE LIMITED TO WOOD, 2 O
STEEL, CONCRETE AND MASONRY “Ng oo BT
(CMU) (BY OTHERS). 2L ZfF g
z|lw |5 5 O
N 3 = IS = T
=] (%] (% Q
0.75 MAX p
I 2.2 ~
0.75 N 6" 0.C. | , 1 /BLADE,HEAD,SILL I &3 Z
[ — SPACING T Sz| x O
=2 ';J =
1 Q
== ‘:[£§E 3 Y 4
— _ _IWE -3l <C
====:40 1 B2 4
ALTERNATE ORIENTATION — || ._@ 224 O < O
(CAUTION, BOLT CLEARANCE) . 25 2 v m
o 2 >
@ ©o O <
3 a T D P
O Z
125725 =
O
O
gl S L /s ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
0.125 TYP, TO 0.375 —| T, QiR SOUVER IO, \@ Phone: 920.845.1042
LOUVER OPENING Fax: 920.845.1048

www rfice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

JAMB_DETAIL ' SUPPORT DETAIL L. David Rice
m LOUVER HEIGHT < 144 IN. m LOUVER HEIGHT < 96 IN. ‘ Registration No: 50923
=/ &
ST
PRODUCT REVISED Wi
: o8 complying with the Florids & oD &,

Building Code S pln g,
Ascvptse No | RS SIS

L)
-----------

SEP 0 3 2010




18" 0.C.
SPACING

6" 0.C.
SPACING

AU NN NN AN

© © Og©

AN NN NN NN N

Z

\
N

Q—\‘\L\T.»-

MG

B@ 18" 0.C.
SPACING
’ @

:

3

&

aon)

3

—G9

1250/ 2.

ACTUAL LOUVER SECTION WIDTH —————=i

ACTUAL OVERALL LOUVER WIDTH

™<__ EXPANSION JOINT OF UP TO 0.25 MAY

BE USED ON LONG OVERALL WIDTHS.

r=——-— ACTUAL LOUVER SECTION WIDTH

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

18" 0.C. Qz
SPACING @

228~

6,/CONNECTION

\@d,@}

8" O.C.
SPACING @

Wi
il 11

"

pOHGHRIIN |

T

\JJ I/
(A

@_..
@.__>

ANt NI NNSsSY/
AACAAA ST LSS A& A A

&

. 7
;-—
[ —
0

II l (N

@K

— MAX. 4.250 k=

;

of

ACTUAL OVERALL LOUVER WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY

ACTUAL LOUVER SECTION WIDTH“tACTUAL LOUVER SECTION WIDTH

BE USED ON LONG OVERALL WIDTHS.

PRODUCT RENEWED
2 complying with the Florids

Building Code MULLION DETAIL
Acseptance No [Z: .06 ﬂ;a\ LOUVER HEIGHT < 96 IN.

10/21
o NG

g ot
| j

Building Code
Acesptance No /{)- D%

By
Divisien

Controk

SEP 03 2010

8/25/2010

DATE

10 OF 271

MES
1:2
CAD DRAWING NO.

SHEET NQ,

SCHEO01TMD

DRAWN BY
SCALE

The look that works™
SCHOFIELD, WISCONSIN 54476

715-359-6171

FLANGE FRAME
SLEEVE MOUNT
MULLION DETAILS

Q ATROILNE

SCH601MD LOUVER

TITLE

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice -
|Registration No: 50923,




N
AW LO9HNDS JYLSH ‘STVIIA NOITININ nNu & / S,
’ - \Y ML
Soree 8 N\ .27,
'ON_ONIAWNT Qv3 . REgade 88 &\
7 10 1| INNOW JTONY SNONNILNOD 882938 2 3 SNk o s 5%
0%22Y 52 3 = R 2 0 42
¥3IANOT AWLO9HOS S3o88g 2% 4RI B EizE
'ON_L33HS IILLL Z 8y € 2502 EHLS O N
=T [Z19-66c—G1Z E 3858 co8cl 2w 2 RS
G'¢-l 9L¥¥S NISNOOSIM ‘GTILIOHOS @) RSgs X W Eewo|l 20%2 S S
\ \ J193S nSYIOM 1DU} 00| ay| l) ©3£ 0 = .m o a.\\\ D ol S
010z/52/8]  San H SERE T, LUrRONN
3190 AL NAVYT W__buc E@@E@ \ 584 ¢ et N
HIGW ¥3ANOT TVNEAD VUV \
HIGIM NOLLD3S M3ANOT NIV 4 H1JIM NOLLO3S N3ANOT TVNLOV
"SHIGIM TIVY3A0 ONOT NO d3sn 38 L m
AVN GZ°0 OL dN 40 INIOP NOISNVE3 N@W \ﬁnu N
M
(e
s
m)m X D
3
) 2
5 4 INIOVS 1
OFE ‘90 .9 o
5 i
= = = =
= z
L
O O O O O O O @) u
@
O O O O 3ONvVISIC
: 39 ¥3INAUSYS
_f_ _ 5 __& ___ h——f——- S . S .
- Twor T — NNI.EH BN 1=+ S S 1= S v A | v A -
3903 31vdlsgns _— @W\Fw
e _l‘,_ H
O 0 0 O = O O O
\_ 50y ONIovdS
20 .81 an3/s
@w\ @\@ @\ "T18VONddY N3HM SNOILIONOD
TNS ONV QY3H HLO8 ¥04 WOIdAL S
IVI3a  “d¥D ON3 NOITINA_3HL NI SFTOH 40
3SN A8 Q3AIHOV 38 IONNVD 3ONVISIO 3903
QK YINILSV4 WNWININ JYIHM S3LVHLSENS ¥04 SI
(TS Lv 3¥3H NMOHS) INNOW F19NV NOITINW
HIOIM ¥3ANOT TIVYEA0 VLV
HIGIM NOLLO3S M3ANOT VNIV t HIGIM NOILO3S M3AN0T "Ny
"SHIJIM TIVY3IA0 ONOT NO g3sn 38 1/—
AVA SZ'0 OL dnN 34O INIOP NOISNVIX3 % \@
@
€—] 3
ONIOVdS "
M 00 .9 mm
i
© 0 o o [l o o o o -
8 /] ¥8
\4 \ b B
© o0 o0 o|~® 7
All © O O
7 L/
\ 3003 MINZLSYS
% /]
S R | | ¢ I e
N H/] v
4 4
3903 3ivyisdns
£\ ONIOVAS
09 36 .8l

‘J18VOITddV N3HM

SNOILIONOD THS ANV av3aH H108 ¥04 TVOIdAL

SI WI3a  "dvd ON3 NOITINW 3JHL NI S3TOH
40 3Sn A9 Q3AIHOV 38 NVO 3JONVISIA 3903
HINILSVA WNNININ 3¥3HM S3LvHISENS ¥04 Si
(TS 1v 3¥3H NMOHS) LNNOW 1D3MId NOMINA




96SH ‘STIVI3A NOIMINW O g

AWLO9HOS 3 M
SRR INNOW 19NV SNONNILNOD N5388 mf

Hfiegs 88 g

12 40 2l Si=3dd o0 8

4¥3IANOT AWLO9HOS Soogss I5 7

'ON_L33HS _ 3ILLL ENmmw 2 2= g2

G¢-L UL¥¥S z_mzoowﬁw%um_m_omwm C Em%mmw cm.mmm

3W3S =SHJOM ]OU} 00| 8y} e3&8 mmm D

/S ] EUUTIOWIRNT S |

HIGW ¥3AN0T TVREA0 TVNLIV

HIOWM NOLDIS ¥3ANOT TYNLOV

'SHLOM TIVA3A0 ONO1 NO a3sn 38
AYW SZ'0 OL dn 40 INIOP NOISNVGXA  — N\

PRUDUCT REVISED

[— MAX. 3.500

MULLION DETALL
LOUVER HEIGHT < 98 IN.

158
12/24

Og:m»

O 3ONvVISIO
3903 ¥INALSVY
m m o |
"378v0olddvY NIHM SNOLLIGNOD
3SN A8 G3A3HOV 39 LONNVD 3JONVISIO 3903

\ NW @z~0<mw &
3903 3LvY1SANS @\ L OBs € m%
TS GONV GV3H H108 ¥04 TVOIdAL SI
YINTLSYd WNNWININ F¥3IHM S3Lv¥LSInS ¥0d SI

@\ aN3/9
WVLIA  "d¥D ONI NOIMINW 3HL NI S310H 40
@ (TS Lv 3¥3H NMOHS) INNOW I1ONV NOITINW

HIGM ¥3AN0T TIVEA0 TVILOV

HIOW NOLLO3S ¥3AN0T TNV } HIOIM NOLLO3S MIANGT TWNUOV

"SHLGIM TIVI3AC ONO1 NO a3sn 39
AVN SZ°0 OL dn 40 INJOT NOISNVdX3

MULLION DETAL
/15 LOUVER HEIGHT < 96 IN.

JONVISIO
3003 ¥3INILSVI

\ & I o
ONIDVIS
3903 31vd1sSans rl ‘90 81
‘J1GVOINddY N3IHM

SNOILIONOD TS GONV aviaH H108 ¥04 TWOIdAL

S IVI30  "dvO GN3I NOITINW 3HL NI SIT0H
40 3sSn A9 G3A3IHOV 38 NVD 3IONVISIG 3903
MINILSYS WNWININ IJY3IHM SALvaLSanS ¥0od S
(TS Lv 3¥3H NMOHS) INNOW 103410 NOITINW




HEAD DETAIL
16 LOUVER HEIGHT < 144 IN.

&

6" 0.C.
SPACING

G

6" 0.C.
SPACING

HEAD DET/

AL
18 LOUVER HEIGHT < 144 IN.

6" 0.C.
SPACING

12" 0.C.
@ & @ SPACING -
OR )
6" 0.C.
SPACING

PRODUCT RENEWED
as complying with the Florida

By
Mi Product Coatrol

8/25/2010

DATE

15 OF 21

MES
1:2.5
CAD DRAWING NO.

SHEET NO.

SCHEO01TMD

DRAWN BY
SCALE

Q ATROLITTS
The look that worksw
SCHOFIELD, WISCONSIN 54476
715-359-6171
SCH601MD LOUVER W/VCD—-4O
FLANGE FRAME W/SLEE\/E MOUNT,
HEAD & SILL DETAILS

& CONTINUOUS ANGLE MOUNT

TITLE

@ 12" o0.C.
SPACING

SILL DETAIL
m LOUVER HEIGHT < 144 IN.

=i

SILL

DETAL
19 ) LOUVER HEIGHT < 144 IN.

&

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www fice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

w03 0

Wiy,
\\“_ '/}
N iD o

N
S ORYY
t“ *
)

Ron S

A

41, \
St e\




o
O
g —
1o N
, N S
o i
7] O g
B 2 8
\U/ y (30 2 ReQ'D ol T E T
\ // / MANUAL QUADRANT ACTUATOR AS SHOWN ZEM‘"E & O
L, NOTE: DAMPER MAY BE OPERATED BY : E a )
o) I /17 MANUAL QUADRANT, AN ELECTRIC OR 212 @ 2
\ l PNEUMATIC ACTUATOR.
I
\H H / 2.8 x
@ 4D% U] 3 o)
| E:j 2z <
58 | o =
i =25 A 5
\ xat = <
8dg <
\ @: o s
[/_\ =35 O -
| -
— IV\ll < O <
N =32
> <
b =
! /
-
PRODUCT RENEWED 1 ogggﬂzjxﬁ%ﬁ[NG
BN e | ey
Expiration No 24830 0% Fax . 920.845.1048
By www rice-inc.com
Mi Product Cantrol Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
| Registration No: 50923
w | 1 enfr o ORI
/Y SR R 144 m. 2SO0
3/ACTUATOR ASSY. AND 12" 0.C. THEREAFTER NG EJN
ALONG LENGTH OF ANGLE ITEM #44 =
£ 557 STATE OF §’°
_ 2 L ORON S
SEP 0 3 2010 NSRS
. / II, ) Iglm ﬁl‘;\ \“\\\\\




0,158 —nf

6" 0.C
SPACIN

0.125 TYP, T0 0.375 ~e ba———— TO OUTSIDE OF SLEEVE ~——

VCD-40

EHH-601D

18" 0.C.
SPACING

vCD-40

6'0&2@5
SPACING

EHH-601D

-

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.
e ACTUAL LOUVER SECTION WADTH ACTUAL LOUVER SECTION WROTH ———

ACTUAL OVERALL LOUVER WOTH

MULLION DETAL
224\ LOWER HEIGHT < 144 N,
18/21

18" 0.C.
SPACING @\@
6/CONNECTION

8

o
—‘| ©

IH\

===} 1,

= ,.|| @
__-'3*

6" 0.C.
SPACING

TR

@;

PRODUCT RENEWED
as complying with the Flarida
Acoeptance No %

ACTUAL QVERALL LOUVER WIOTH

{ 220"\ LOUVER, HET < 08 e
.

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIOTH —

SEP 0 3 2010

A

(@]
o
N —
0 N A
h_,N
< L | =
Ok =
@)
o g O
sl g D E T
> o
A TR R
s g g U
g(/)(/) Q)
(@)
< wn
2| | =
2| o <
8z | Q L
§>
B D w e
Sonl = s Z
C[*‘;E < 25
o8l v o O O
°28 O w = 3
OF =
=35 Lol
ER
J%L‘JO
. A Ll
@ ST 0%
é m
=
L..II <
150 -
=N
—
| ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042

Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 s S

g,

N
\\\\\ %

R

0,0 \
”'lumﬁnm\\




6" 0.C. V4

SPACING
& |

12" o.C.
SPACING

VCD-40

< -3
ALTERNATE ORIENTATION —1]

(CAUTION, BOLT CLEARANCE) EHH~-601D

=
180

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

0.125 TYP, TO 0.375 —wd

r_
22 _]n Q00000000

OVERALL LOUVER WIOTH, __
LOUVER SECTION WADTH

|
:

JAMS DETAL
LOUVER HEIGHT < 144 .

1w

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

) -

]

@/ EXPANSION JOINT OF UP TO 0.25 MA
BE USED ON LONG OVERALL WIDTHS.
= ACTUAL LOUVER SECTION WWOTH ACTUAL LOUVER SECTION WOTH ————

ACTUAL OVERALL LOUWER WIOTH

244\ LOUVER HEIGHT < 144 W,

&

VCD-40

EHH-601D

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING @ 4
| -~
®\ @\ iEmEs im)
\=
=

L .

e ACTUAL. LOUVER SECTION WIDTH

=
SPACIN'!S@/

o

e 0,250

p————— ACTUAL LOUVER SECTION WIDTH ———

{20 LONER HEHT < 90 W,
.

SEP 0 3 2010

8/25/2010

DATE

16 OF 21

MES
1:3
CAD DRAWING NO.

SHEET NLOL

SCH6E01TMD

DRAWN BY
SCALE

/NCD—40

CONTINUOUS ANGLE MOUNT
JAMB AND MULLION DETAILS

The look that works™
SCHOFIELD, WISCONSIN 54476

715-359-6171

> VARGV

SCHB601TMD LOUVER W

TITLE

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

Wy,
\\\\\\ V‘D Y,

csanti sy, oS , &

CEN

S L or D% N
*2e0srpamant®®” % \\?
ZSIONAL G

i




NOTES:

1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN AND HAVE CORNER
CONSTRUCTION AS DESCRIBED ON ALL SHEETS.

2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE
RECTANGULAR LOUVER PANELS AND MAY BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS. ‘

3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE
SUPPORT ANGLE AND BRACKETS ARE REQUIRED.

. HE

PRODUCT RENEWED
ss complying with the Florida

Product Control

AVAILABLE SHAPES

& =

=

Wg’%— 9

SEP 0 3 2010

(@)
)
N —
uQ
'—
Yoo L =
Ok =
2 D
n i S &
zul 2 — g L
z =l |5 O
s lE RV
E B & S
7P
=5 O
oS, <
E_—_| G| x| N
""’% Ll )
23] > Qa
=g 5 9 <
dlxd 3> I
o9d N
Qw@ J
OF B
2Fo A Ll
= m
32 2
T < <
O ~ <
wn
< =
(W]
-
|_
-
’.—
ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
© www.rice-inc.com ‘
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
 Registration No: 50923 P




*EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS.
IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS.

ITEM DESCRIPTION MATERIAL NOTES ITEM JCONCRETE | CMU [STEEL[WOOD]  MIN. | FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS 9
1 LOUVER HEAD 6063-T5 ALUMINUM S2 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER] # R@D. |CENTERS| EDGE [EMBED.* o
2 LOUVER BLADE 6063-T5 ALUMINUM 2125" MAX. SPACING 52A X 2KSI *POWERS WEDGE BOLT” 3/8 | VARIES| 600 | 1215 | 3500 ~N
3 LOUVER SILL 6063-T5 ALUMINUM 528 X 4KSI “POWERS WEDGE BOLT” 3/8 | VARIES| 600 | 1.215 | 3.500 Y A
4 LOUVER JAMB 6063-T5 ALUMINUM 52C X 2KsI SCOTS TAPCON / TAPCON 1/4 | VARIES| 4.75 | 1500 | 1750 Te) (@N =)
S LOUVER/DAMPER FLANGE 6063-T5 ALUMINUM 52D X 4KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 600 | 1500 | 1750 e
6 FORMED SLEEVE 5052-H32 ALUMINUM 1/8° FORMED SLEEVE-DEPTH VARIES SeE X 1.5KSI SCOTS TAPCON / TAPCON 174 | VARIES| 300 | 1500 | 1750 ;\ L >
74 1172 X 1 1/2 X _1/4 ANGLE 6063-TS ALUMINUM BLADE SUPPORT ANGLE SoF X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | VARIES| 6.00 | 0500 | 0.125 = 00 L —
7B 11/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF SLEEVE| |[SeG X | 'SG 042 LAG 3/8 | VARIES| 600 | 1500 | 2.375 O =
8 11/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB_ANGLE 53 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* - O
9 1172 X 1 1/2 X 1/8 ANGLE 6063-TS ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER| [ S3A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3.500 .00 [ (0]
10 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL OF SLEEVE FLANGE| | 538 X 4KSI *POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3500 > & g > T
11 3 X 6 X 5/16 STEEL TUBE A36 S3C X 2KST SCOTS TAPCON / TAPCON 1/4 | 97END | 200 | 150 | 1625 B — =
12 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT SILL AS BACK OF SILL PAN S3E X 4KSI SCOTS TAPCON / TAPCON 1/4 | 8/END | 200 | 1.50 | 1625 25w |5 a5 O
13 LOUVER BLANK OFF 6063-T5 ALUMINUM IF REQUIRED, SPANS SILL OPENING S3F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 8/END | 100 | 050 | 0125 2 2 |u a N
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM 536G X | SG 042 LAG 3/8 | 7/END | 150 [ .75 | 2375 | GROUP € |9 | <
15 DAMPER JAMB 6063-T5 ALUMINUM 54 | MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3.75 MAX. SPACING S4A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 12/ANG.| 3.375 | 2.250 | 3.500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBER TYPE MATERIAL VARIES S4B X 4KST *POWERS WEDGE BOLT’ 3/8 | 9/ANG. | 3.375 | 2250 | 3500 | 3.766 —
18 DAMPER JAMB SEAL SS 54C X 2KSI SCOTS TAPCON / TAPCON 174 |32/ANG.| 2.000 | 1500 | 1.750 | 3.375 © =
19 | DAMPER TOP/BOTTOM CLOSURE ALUMINUM 54D X 4KSI SCOTS TAPCON / TAPCON 1/4 |27/ANG.| 2000 | 1500 | 1750 | 3.375 I@ A 3 2(-1
20A DAMPER LINKAGE BAR GALV. STEEL S4E X 1.5KSI SCOTS TAPCON / TAPCON 1/4 |32/6NG.| 2000 | 1500 | 1750 | 3375 =3 O S =
20B DAMPER LINKAGE BAR SS S4F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 | 0500 | 0125 | 3.000 = < 0
21A DAMPER AXLE BUSHING DELRIN 54G X 65KST Fy [BOLT/NUT OR TAPPING SCREW| 1/4 | 11/ANG. | 1000 | 0500 | 0188 | 3.000 g | = Ll
21B DAMPER AXLE BUSHING BRONZE S4H X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 | 0500 | 0188 | 3.766 ©8 g 0 12
21C DAMPER AXLE BUSHING SS 541 X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 5/16 |12/ANG.| 1000 | 0625 [ 0425 | 3,000 f,gg 3 SIRA =
22A | NON-DRIVE DAMPER AXLE ASST. | 2C STEEL PIN W/DELRIN BUSHING : S54J X 65KSI Fy[BOLT/NUT OR TAPPING SCREW| S5/16 |16/ANG.| 1000 | 0625 | 0125 | 3.766 ~ .0 o) > 2
22B_| NON-DRIVE DAMPER AXLE ASST. |2C STEEL PIN W/BRONZE BUSHING 54K X | SG 0.42 LAG 378 | 167ANG.| 1.500 | 1500 | 2875 | 3.766 8%3, ~ O L
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING S4L X | SG 0.42 LAG 3/8 | 11/ANG.| 1500 | 1,500 | 2875 | 3.000 —=&8 o 2D o
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING 55 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQD. |[CENTERS| EDGE |EMBED.* g%}, a ~ Z
22E | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING 554 X 2KSI *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 150 1.6 | 3.500 r\2 —ax = = =
22F | NON-DRIVE DAMPER AXLE ASST. SS_PIN W/ SS BUSHING S5B X 4KS1 ’POWERS WEDGE BOLT’ 3/8 | 5/CAP | 150 16 | 3500 ] =Z
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV, STEEL 55C X 2KST *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3500 "O" O o o
238 | DRIVE SIDE DAMPER AXLE ASST. SS 55D X 4KST *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3500 o Z O
24A 174 DIA, E-CLIP zP SSE X 2KSI SCOTS TAPCON / TAPCON 1/4 | 6/CAP | 200 | 150 | 1750 4 T < N
24B 1/4 DIA, E-CLIP S SSF X 4KSI SCOTS TAPCON / TAPCON 1/4 | 6/CAP | 200 | 150 | 1.750 5 L &
25 #8 X .75 TPH TYPE AB SMS SS 556G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 3/CAP | 100 | 050 | 0425 A N =
26 #14 X 75 TEK zP SSH X | SG 042 LAG 3/8 | 5/CAP | 150 [ 1,75 | 2375 | GROUP = o
27A 1/4-20 X 125 HH CS zP 56 | MULLION ANGLE MOUNT FASTENER, H<=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER L >
278 1/4-20 X 15 HH CS SS 56A X 2KST *POWERS WEDGE BOLT” 3/8 | 4/ANG. | 3.375 | 2.25 | 3500 | 3.766 W S
28A 1/4-20 SF_NUT zP 568 X 4KSI *POWERS WEDGE BOLT’ 3/8 | 3/ANG. | 3.375 | 225 | 3500 | 3.766 A n
28B 1/4-20 SF_NUT SS 56C X 2KSI SCOTS TAPCON / TAPCON 1/4 | 11/ANG.| 2000 | 150 | 1750 | 3.375 =
29 REINFORCING STRAP 18-8 SS 56D X 4KSI SCOTS TAPCON / TAPCON 1/4 | 9/ANG. | 2000 | 150 | 1.750 | 3.375 =
30 1/4-20 X 562 BALL SWIVEL ZP S6E X 1.5KSI SCOTS TAPCON / TAPCON 1/4 | 11/ANG.| 2000 | 150 | 1.750 | 3.375
31A | DAMPER BLADE DRIVE LEVER S S6F X €5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 7/ANG. | 1000 | 0.50 | 0.25 | 3.766 RI C E
31B | DAMPER BLADE DRIVE LEVER GALV. STEEL 566G X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 6/ANG. | 1000 | 050 | 0125 | 3.000 S8 S
32 DAMPER MANUAL QUAD ASSY. S6H X | SG 042 LAG 3/8 | 5/ANG. | 1500 | 150 | 2875 | 3.766 ENGINEERING
33 5/16 DIA, LINKAGE ROD ZP 561 X | SG 0.42 LAG 3/8 | 4/ANG. | 1500 | 150 | 2.875 | 3.000 105 School Creek Tril
34 | #10 X 3/4° TPH SMS 18-8 SS 18-8 SS GENERAL NOTES: Luxernburg, W1 54217
35 #10 X 1 1/4° SMS 316 SS 316 SS 1. IT SHALL BE THE RESPONSIBILTY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE Phone: 920.845.1042
36 174° DIA, SS_SCREW 1 1/2° LONG LOADS IMPOSED BY THE LOUVERS. Fax:  920.845.1048
37 1/4° DIA_SS SCREW T DNE 2. THE SCHE0TMD AND SCHBO1MD/VCD—40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND TEST P 920.845.
PROTOCOLS TAS~-201 (IMPACT), TAS—202 (UNIFORM STATIC PRESSURE), AND TAS—203 (CYCLIC FATIGUE). THE SCHE01MD/VCD-40 HAS BEEN TESTED www rice-inc.com
3399‘\ 1/81;E2;A-Lg'g;NgH?;\S/ET ALUMINUM IN ACCORDANCE WITH TAS—100(A)—95 (WIND DRIVEN RAIN).
NOT_BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72" WIDE X 144" HIGH. S )
338 | SEALANT AND BACKER ROD NOT_BY GREENHECK b o s S B AKED ERTISALY  PROVIDING  SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO giﬂf?f?czggiu’;;oo]x?f;?gnsgé]9090
40 S 174 X 2 X_1/4 ANGLE 6063-T5_ALUMINUM USED AT _JAMB UF LOUVER/SLEEVE | " SUPPORY AL LOADS TRANSIERRCD PROM THE LOUVER. L David Rice y,
41 4* CHANNEL 6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE | 6. CONCRETE MASONRY SHALL BE ASTM C90, TYPE !l, 2,000 PSI GROUT—FILLED, Registration No: 50923
42 MULLION SLEEVE BRACKET S052-H32 ALUMINUM 7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHOD THAT DOES NOT REQUIRE THE USE OF FASTENERS IN'II')% E‘I;Hi or egesiration ho:
43 1 1/4 X 1 1/4 X _1/8 ANGLE 6063-T5 ALUMINUM MIN SIZE, JAMB ATTACHMENT ANGLE S THE e ST N A R rUrea! WILL WITHSTAND THE LOADS TRANSFERRED TO T BY THE LOUVER. AIROLITE Wiy, / '
) DETERMINE THE STRUCTURAL INTEGRITY OF THE STRUCTURE. AW "W, /
44 SILL DAM ALUMINUM 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. [T MAY BE A VD B
5 SLADE SUPPORT TP TIENAL SEI-TS ALUMING INSTALLED IN CONCRETE, CMU, STEEL, OR WOOD ACCORDING TO THE FASTENER SCHEDULE. AIROLITE DOES NOT DETERMINE THE STRUCTURAL N A
. INTEGRITY OF THE SUBSTRATE STRUCTURE. S A,
46 | STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/— 150 PSF. N 5
47 {ALUMINUM MULLION END CAP (SM) 5052-H32 ALUMINUM FACTORY WELDED TO MULLION 10. LOUVER ASSEMBLY WITHOUT VCD—40 DAMPER SHALL ONLY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO s .
48 STEEL MULLION END CAP LG STEEL FACTORY WELDED TO MULLION DRAIN WATER PENETRATING INTO THE ROOM AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR SUPPLIES. oy
11. LOUVER ASSEMBLY WITH THE VCD—40 DAMPER MAY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS NOT DESIGNED TO S
49 ALUM MULLION END CAP (LG S052-H32 ALUMINUM FACTORY WELDED TO MULLION DRAIN WATER PENETRATING INTO THE ROOM OR THE ROOM WILL HOUSE NON-WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR =
50 |MULLION MOUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-T6 MULLION MOUNTING ANGLE, H<144 SUPPLIES. LOUVER ASSEMBLY WITH VCD DAMPER INSTALLATION IS LIMITED TO AN ELEVATION OF 33 FT ABOVE GRADE. =
51 1/4° DIA THREAD STUD SS OR PLATED STEEL 1/2° MIN. LONG 12, INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUIRED.

13. THE VCD—40 MAY BE OPERATED BY THE MANUAL QUADRANT SHOWN ON PAGE 14/21 OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER’S

ACTUATOR IS NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT. JAMBS ARE SQUARE CUT © HEAD AND SILL. CORNERS ARE SECURED WITH (2) #10x1-1/4

SMS AND SILICONE SEALED. BLADES ARE SECURED TO JAMBS WITH (2) #10x1—1/4 SMS AND WELDED O EACH END.

STEEL/STAINLESS—~STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH. TH%EP

:?éA?QECHSéJSPPORT ANGLE (AND OPTIONAL BLADE SUPPORT BRACKETS) ARE ONLY REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREATER 0
| .

14.

15.
16.

G- LB NS
nSIONAL S
3 2010 it




o
Q
N —
5.723 - 5.723 6.000 - 1.063 | 1.250 |"' 0 N A
N
— I < 00 L =
o | O 5 v
% s 3
g © 0.081 o g ©
2 < S [ a0 Y 2B T
. ~ =] o
7] q { S z<lw |- a8 O
> a0 |«
o z | |w a ()
LOUVER HEAD o ° E B |5 S
6063—T5 ALUMINUM 6063—T5 ALUMINUM 5‘:{1 f - °© o
LOUVER SILL = 3
6063—T5 ALUMINUM X © —
| 0.125 Im_f 5% =
—pe! — (], @23 o
. S, Q ¥
~ | le— 0.250 ll.— 0.125 LOUVER JAMB 2lE =1,
3 | 6063—T5 ALUMINUM 28] > »n 8 W
= o LOUVER JAMB I L—_I 391 © O I
s S SUPPORT_ANGLE o ] —— e g 4 35 o O
‘ % f ) " 6063—T5 ALUMINUM 3 — @ 0o z J x
- Soe O =
- I - —={ |=— 0.125 OPTIONAL JAMB N S E =2 O
f ? 1 . [ { 6063-T5 ALUMINUM = Z —
* . ] o Q29
1.741  |=— S O Z <
—{ 1.500 - o N < o
LOUVER/DAMPER FLAN ' 6.000 3 cI) L
LOUVER BLADE SUPPORT & -
@ 16063-T5 ALUMINUM SLEEVE MOUNTING ANGLE | —{}=— 0.125 . D g
6063—T5 ALUMINUM ? ‘ ' L
‘ 3 g @
- 6.000 - —| 1.500 2 =
—o{ |=— 0.125 LOUVER SLEEVE
ATTACHMENT ANGLE '
AN\ AN\ ! @ 606375 ALUMINUM } RICE
A\ o | 1500 ENGINEERING
\ Q ' 105 School Creek Trail
o N ! ° VER SLEEVE FLAN Luxemburg, Wi 54217
o - J.QiLgE_p______E_E_QE Phone: 920.845.1042
S 0.313 —=N\Jl=— e 3 SUPPORT_ANGLE Fax:  920.845.1048
\ f o 6063—T5 ALUMINUM www rice-inc.com
1.638 r——
. . | Florida Firm No: F-01000005061
— 1.500 Certificate of Authorization: #9090
LQ.L:V R S”_L f N L. David Rice
PAN_ANGLE LOUVER BLANK—OF M Registration No: W‘M/
@ STEEL TUBE 6063—T5 ALUMINUM 6063—15 ALUMINUM .
A0 = "‘m“"””}&‘i"sm \ ‘
PRODUCT RENEWED Doilding Co Qe
a3 complying with the Florids 4 .
mmOo:o oL Z kS
Expiration %
AL ORON R
ZASSIONAL O
SEP 0 3 2010 o ;’:’.ﬁ}{“m\“‘




O
n wn —
™~ Ll
> <'_—'>1_ 1.000 —=  |=— 0.655 E > 106 S _
i - o~ > ) N
4.000 ———>’ :‘“ o o o) N
| 1 D 0.317 2.310 i 0081 Q| o
. . —
— < 00 L =
0.081 0.062 —c i T
% § <> § ? %) ) z ©
DAMPER HEAD/SILL < < DAMPER BLADE SEA| DAMPER JAMB SEAL NG >
6063-T5 ALUMINUM @ MATERIAL VARIES 007" SS DAMPER TOF ZBOTTOM Al S N g
= (] o]
J —ofla— 0.125 ALUMINUM 2 |2 | a )
o [&5) I <C
(=} (2] ) Q
o ' KNURL PIN
3 0 0 —
~ S l~— 2.500 —= 2 ! cF 5o s Z
0.125 lj @ DAMPER JAMB DAMPER BLADE © ' re © ﬂﬂ_f <3 o
- - 3.620 N 3.620 S O <
D 6063—T5 ALUMINUM 6063-T5 ALUMINUM : DS '—j = = ‘j l E:, 3| x = |
| D gu DI b= N S W
§ 0.618 ! AN ! sy D 5 X
PIN A PIN 349 O O L
0.376 BUSHING - g —
DAMPER LINKAGE BAR =2g8 o o0 O
MATERIAL VARIES . RETAINING RING LEVER . o8l 4 Z XK
() =8 = = 0
, . = =
D ER AXLE BUSHING (.445" LG. NON-DRIV| AX Y RIVE—=SIDE DAMPER AXLE_ASSY. 5 O 0O E—:
MATERIAL VARIES MATERIAL VARIES MATERIAL VARIES © O Z <
C(b) g N
l LOUVER JAMB o=
_ SUPPORT CHANN MU ION SLEEVE BRACK -
o LOUVER JAM 1'1 6061-T6 ALUMINUM 5052—H32 ALUMINUM 4ooo»m
Lr) —_— .
« SUPPORT_ANGLE o =
o 6063—T5 ALUMINUM S 3 =
i N2 RICE
r' T ] ENGINEERING
105 School Creek Trail
|<’_ 5.250 ———— ft— 4,000 ————c> Luxemburg, WI 54217

Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice -,
Registration No: 50923 7/

AV Y 4
QpVID p)

W\
N
& O i,

E |<— 00125' 0.063 —>“<l——i

_

250 |<_ 0.750 —=|  |j=—

3 QPTIONA[ BLADE

LOUVER JAMB AMPER SILL DAM @

N T QR e OL
6063-TS ALUMINUM

—7’ /.500/"_

0.081

—= 1.250

~I>J 1.000

v > %, / LOR\O?‘:‘“‘NG?*?S
£ orgaanaenns N
AN

\
™




5.687

DIM.
A
A
B

C
D
G

LIFTING LUG

DESCRIPTION

OR SL

1.584
1 == ALUMINUM
MULLION
LOCATION
[
(o]
Q WT
MULLION <+
LOCATION
ALUMINUM MUL END CA
L MQUNT

FOR S
S5052-H32, 0.25 ALUMINUM

U
0.313 STEEL

20.375/0.50 FOR 1/4¢ FASTENER IN ALUMINUM/STEEL

20.563/0.75 FOR 3/8¢
2FASTENER CLEARANCE HOLE

FASTENER IN ALUMINUM/STEEL
2FASTENER SPACING DISTANCE

DIAMETER

2FASTENER SUBSTRATE EDGE DISTANCE

.
A

LENGTH

"

ROUP CENTER = CENTER OF FASTENER HOLE PATTERN

QUANTITY VARIES WITH
/' FASTENER TYPE

p—

0 &

[ SUBSTRATE EDGE

s o o

O

ALUMINUM
MULLION
LOCATION

FIELD DRILLED

+

T |
T

::_B-'>, \_

A

FOR_CONTINUQUS ANGLE MOUNT
5052-H32, 0.25 ALUMINUM

QUANTITY VARIES WITH
FASTENER TYPE

CAP
NG

— LENGTH — O ]
< CENTERED \ 2
1 5 DRAIN HOLE FOR PAINT PROCESS \ —
6 o) N O
R | R o AN
O 0 O O o o S R
| CES
B B ¢ 2 O
VO @/_ O O Qo S E T
2 N|Z
MULLION o= ) N 5 O
£ QUANTITY VARIES WITH LOCATION S T -
= T [T | a (/)
o FASTENER TYPE PERMETER WELD D g 18 & S
O
QUANTITY VARIES WITH
FASTERIES Wi SUBSTRATE EDGE \ l a
FELDDRILLED \  § | 8  ____ — 2. Z
i 23 2 o
—¥ + 4+ + 4+ + 4 52| 2%
A 2| X = |
5,80
i B 32583
A 0 —§gc’; ONNe Lo
STEEL_MULLION END CAP u =g8 4 35 o O
FOR COTALOLS A 2 o2 ¢
. _ — 0N
FILLER 11 j: TOA=AM CUT LENGTH fe— 6.o~>l S E =
TOTL=MH CUT LENGTH ~ & A
_ o
= LENGTH , T D <
WELD BREAK ALLOWED z Q
\5 SUBSTRATE EDGE /\— AT GUSSET(S) Z Y 7 u>_| ~
——F o 172> 7——<FILLER b=
/ \ [{e] l/ " |
ARRIRITIIRITERRRRS INVRRX T R RO
2 | Extruoed ANGLE O 4 B_~GUSSET SUPPORT i £ @
P 94€ (F REQUIRED) TWO WELD STYLE =
£ D o | WELDED PLATES I B 4"x4” TRIANGLE VARIES —f feo OPTIONS
& d B ONE AT CENTER 2" = R[CE
2 9 B OR ONE NEAR EACH END e
z 3 g | - ENGINEERING
s 593 O {.&\— = ; /FILLER 105 School Creek Trail
o : 1/4 TOTAL=MN CUT LENGTH Luxemburg, Wi 54217
© L 5 // c '\ j Phone: 920.845.1042
Fax: 920.845.1048
/ 7‘[ \[ B [\4 \/FILLER www.rice-inc.com
/ QUANTITY VARIES WITH Florida Firm No: F-01000005041
/ B/2 FASTENER TYPE \\CD E:eDdiﬁ%c:? of Authorization: #9090
, . DAy Ice
LA | O SIDE VIEWS FILLER MAT'L. Registration No: 50923 s
SHOWN AT ALUM=4043 OR 5356 |——
f' 7 1/2 SCALE STEEL=E70XX
— A B ON TING BRACKET =l o
C S
VARIES, SEE B.O.M. & TABLES BELOW S
MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2 § 5:
LOUVER|SUBSTRATE LOUVER |GUSSET|MIN CUT MAT’L. | PROCESS LOUVERJSUBSTRATE LOUVER |GUSSET]MIN CUT| MAT'L PROCESS Sxd
HEIGHT | LEG THK, LEG THK.| THK. |LENGTH TYPE TYPE HEIGHT |LEG THK, LEG THK.| THK. LENGTH| TYPE TYPE = H
S144 21/2 21/2 NA 165 |6061-Te EXTRUDED £96 21/2 21/2 NA 6.6 6061-T6 |EXTRUDED =~ 3
<144 27/16 27/16 NA 24 A36 ROLLED <96 23/8 23/8 NA 12.34 STEEL | ROLLED = . “
S144 21/2 21/2 NA 18,5 A36 ROLLED £96 27/16 27/16 NA S STEEL | ROLLED
S144 25/16 21/4 25716 20 6061~T6| WELDED £96 25/16 21/4 25/16 9 6061-T6] WELDED
<144 25/16 23/16 25/16 20 STEEL | WELDED £96 25716 23/16 25716 S STEEL | WELDED LSEP 0 3 20 0




